

$$y^2(a-1)x^2 + x + 1 \Rightarrow y^2 - \frac{1}{a}x^2 + x + 1$$

$$-\frac{b}{a} > 1 \Rightarrow -\frac{1}{a-1} < 1 \Rightarrow -1 < a-1 \Rightarrow a > 0 \Rightarrow a > \frac{1}{a}$$

$$y^2 - \frac{1}{a}x^2 + x + 1 \xrightarrow{(x,y) \rightarrow (x-1, y)} x^2 - 4x + 1 \Rightarrow (x-2)^2 - 3 \Rightarrow x=2 \Rightarrow y=0$$

I $m < 0$ بین دو نقطه

$$\Delta = b^2 - 4ac \Rightarrow 40 - 4m^2 > 0 \Rightarrow (5 - 2m)(5 + 2m) > 0$$

II $m \in (-\frac{5}{2}, \frac{5}{2})$

$$I \cap II = (-\frac{5}{2}, 0)$$

$$\alpha = \frac{1 - \sqrt{5}}{2} \Rightarrow \alpha + \beta = \frac{1 - \sqrt{5} + 1 + \sqrt{5}}{2} = 1$$

$$\beta = \frac{1 + \sqrt{5}}{2}$$

$$\alpha\beta = \frac{1 - \sqrt{5}}{2} \times \frac{1 + \sqrt{5}}{2} = \frac{1 - 5}{4} = -1$$

$$x^2 - 5x + 1 = 0 \Rightarrow x^2 - 1x + \frac{1}{4} = 0$$

$$4x^2 - 4x + 1 = 0$$

$$1\alpha^2 + \beta^2 = 1 \Rightarrow 1\alpha^2 + 1\beta^2 + \alpha^2 - \beta^2 = 1 \Rightarrow 1(\alpha^2 + \beta^2) + (\alpha + \beta)(\alpha - \beta) = 1$$

$$1(1 + m - 1) + 1\left(\frac{\sqrt{5}}{2}\right) = 1$$

$$1 + m + 1\left(\frac{\sqrt{5}}{2}\right) = 1 \Rightarrow 1 + m + \frac{\sqrt{5}}{2} = 1 \Rightarrow m = -\frac{\sqrt{5}}{2}$$

$$1\sqrt{1 - 1m} = 1 + m \Rightarrow 1 - m = 1 + 2m \Rightarrow 1 - 2m = 1 + 2m \Rightarrow -4m = 0 \Rightarrow m = 0$$

$$m^2 - 1m + 1 = 0 \Rightarrow m = 1 \Rightarrow m \in (-1, 1)$$

$$S \mid \frac{1}{a} \Rightarrow -\frac{b}{a} < 1 \Rightarrow -b < a \Rightarrow b > -a$$

$$y^2 a(x-h)^2 + k \Rightarrow a(0-h)^2 + k \Rightarrow a(-1)^2 + k \Rightarrow a + k$$

$$C > 0$$

$$y^2 - x^2 + kx + a = 0 \Rightarrow y^2 = x^2 - kx - a$$

$$y^2 + x^2 - kx - a = 0$$

$$-1 < 0$$

$$\Delta < 0 \Rightarrow (-1, 0)$$

$$x^2 - vx + 4\beta > 0 \quad \beta > 0$$

$$\Rightarrow x(x^2 - vx + 4\beta) > 0 \Rightarrow x^3 - vx^2 + 4\beta x > 0 \Rightarrow x^2 - vx + 4\beta > 0$$

$$\Rightarrow x(x^2 - vx + 4\beta) > 0 \Rightarrow x > 0 \quad \text{or} \quad x < 0$$

$$x^2 - vx + 4\beta > 0 \Rightarrow \beta > \frac{v}{4} \Rightarrow \beta > \frac{v}{4}$$

$$\frac{4\beta}{v} > 1 \Rightarrow 4\beta > v$$

$$\beta > 0, x < 0 \Rightarrow \boxed{x \in (-\infty, -\frac{v}{4})}$$

$$\frac{1}{\beta} + \frac{1}{x} \geq \frac{5}{p} \Rightarrow \frac{1}{x} \geq \frac{5}{p} - \frac{1}{\beta}$$

$$x^2 + mx - 1 > 0 \Rightarrow x^2 - mx - 1 > 0 \Rightarrow x^2 - mx - 1 > 0$$

$$x^2 - mx - 1 > 0 \Rightarrow x^2 - mx - 1 > 0 \Rightarrow x^2 - mx - 1 > 0$$

$$x^2 + mx - 1 > 0 \Rightarrow (x + m)(x - 1) > 0 \Rightarrow x < -m \text{ or } x > 1$$

$$\text{if } m = -1 \Rightarrow x^2 - x - 1 > 0 \Rightarrow (x - \frac{1}{2})^2 > \frac{5}{4} \Rightarrow x < -\frac{1}{2} \text{ or } x > \frac{3}{2}$$

$$x^2 + mx - 1 > 0 \Rightarrow \frac{-b}{a} \geq \frac{-r}{1} \Rightarrow \boxed{x + B \geq -r}$$

$$x^2 + mx - 1 > 0 \Rightarrow m \left(\frac{1}{x} + 1 \right) \geq \frac{m}{x} + 1$$

$$\frac{-1}{x} \geq 1 \Rightarrow 1 - x \geq 0 \Rightarrow x \leq 1$$

$$\Rightarrow m \leq m - 1 \Rightarrow (m - 1)(m + 1) \geq 0 \Rightarrow m \leq -1 \text{ or } m \geq 1$$

$$y^2 - 2x^2 + x + y \Rightarrow (x - y)(x + y) \geq 0$$

$$S \mid \frac{1}{y} \Rightarrow y \geq a(x - h) + k \Rightarrow x \geq a(-r)^2 + y \Rightarrow x \geq -r^2 + y$$

$$A \mid \frac{1}{x} \Rightarrow y \geq -\frac{1}{x}(x - r)^2 + y \Rightarrow y \geq -\frac{1}{x}x^2 + r + y$$

$$\Delta > 0 \Rightarrow x - r(-\frac{1}{x}x) \geq 1 \Rightarrow x \geq -r + \frac{1}{x}$$

$$\frac{1}{x + r\sqrt{x}} + \frac{1}{x - r\sqrt{x}} \geq \frac{r - r\sqrt{x} + r + r\sqrt{x}}{x - r^2} \geq \frac{2}{x - r^2}$$

$$x^2 - (x + r)x + (x + r)x \geq 0 \Rightarrow x^2 - x - r^2 \geq 0 \Rightarrow (x + 1)(x - r) \geq 0$$

$$x < 1 \Rightarrow x^2 - x - r^2 \geq 0 \Rightarrow (x - r)(x + 1) \geq 0$$

$$x \geq \frac{1}{r} \Rightarrow x^2 - \frac{1}{r}x + \frac{1}{r} \geq 0 \Rightarrow x^2 - \frac{1}{r}x + \frac{1}{r} \geq 0 \Rightarrow \boxed{x \in \left[\frac{1}{r}, 1 \right]}$$